£ A X & = 2 g

B
ﬁ
ul
oQ
0z
=
baa

|
=

X

& Al M

NEAHAEZ2H2-XF22ld, 2+E 4! (H1200xW3000)

2 A 2021 &
& HME: A
TEL: 1577-8549
FAX (02)3436-6450




o
40
2
_\'J_
kel

NEAEZ2-XI==2lE, 2E A(H1200xW3000)

T 2 bl =2yl 2l g
=x 72 2z | o9 bl 2
& 2 o & ot 2 o e Ot 2 o e O 2 o
1. REHEZH-NFE2E, 2EA (H1200xW3000) & XIBAH "Bty
NESTIES ®101.62X2tX200 2| & 3,200 6.400 3,200 6.400 |2s0ieiEa
BEIF ®101.6%2t 2| & 112,000 224,000 112,000 224,000 |E80IEE+EHES
NE ©101.62 2| 9.600 19,200 9.600 19,200 |280ldz2 AR
NELES ©76.3x3050x2t 1| = 67,000 67,000 67,000 67,000 |ss0le=2+2HEE
R ©50.8x2850x2t 2| 38,800 77,600 38,800 77,600 |B0leEI+EHES
NELESEES M8x110(£ &) 2| 1,500 3,000 1,500 3,000
YEIEB/BUE M8x110( ) 4] H 1,200 4,800 1,200 4,800
BEALK] 50X320 2 3 3,300 6,600 3.300 6.600
A0 (RIZHI) 408,600 - - 408,600
ER szow 0.075 2l 181,293 13,596 181,293 13,506 (20215 BEHEBB(AZATA) P45
Zsole 0.15| @ 144,481 21,672 144,481 21,672 LIS BERERBASETAN P36
sEM= FPEFNAE 14.44| kg 600 8,664 600 8,664 |&aEAIN, 2021.01 Ha2HIHA P.227
Aojcy 6 inch 0.16| hr 409 65 409 g5 |20 ZUBERA(Z AT P4 A=
20214 AL HEESH (AL ATRAL P.436
3SROHIE 5 inch 0.08 M 148,000 11,840 148,000 11,840 ¥ se=eil 8452 =8,
2021.09 Hefor= p.1322
2| 25kw 0.24| hr 8,360 2,006 28,571 6.857 3,045 730 39,976 9,503 |o g e e o
gmes 2.5ton 0.24| hr 6.274 1,505 37,187 8.924 5.887 1,412 49,348 11,841 |5 ) P e e
EREEE:] 215 =2 3% 1 A 1,058 1,058 1,058 1,058 |202148 AL HEZH(ALATA P.436
A (& XIHI) 25,073 51,049 2,207 78,329
b 433,673 51,049 2,207 486,929
*'m"e ©OL: 486,929 |/ 3m = 162,310




Jd 2 O 2 E
U=l L 24l 4 dl g A
=3 3 =g | &9 =] )
(= = o =) = A = = % = Ot = %

* 1S HE : A0HEE-'AI'EY

A 409 409
* RI2SHE : 2@EI|(25kw)-"'AlI2H'E
28l 25kw 1 hr 3.045 3.045 3.045 3.045 g(\)ilwaiEfggigfﬁiiﬁggéﬁ%.oooooo1
B 0.001W% S 43| | 1,568 6,742 1,568 6,742 |2021.09 H2HIk24 P.1435
PN FAZO| 24% 0.24| Al 6,742 1,618 6,742 1,618
LB A2 A AL 1] el 28,571 28,571 28,571 28,571 |M4z®

Al 8,360 28,571 3,045 39,976
* RIBSHE : I E2(2.5ton)-'AlI2HE
B=EH 2.5ton 1 br 5.688 5.887 5.888 5.887 g(\)iﬂ;xﬁfgggggﬁﬁiﬁ&ggg.0000001
B 0.001W% S 29| | 1,568 4,547 1,568 4,547 |2021.09 HeHIH P.1435
PN FAZO| 38% 0.38| &l 4,547 1,727 4,547 1,727
S X2 A 1] el 37,188 37,187 37,188 37,187 |HM53%

Al 6,274 37,187 5,887 49,348
* M4SH : U HSFA-'AIRNY
LB A2 H AL ‘ ‘ 0.208 ‘ ol ‘ ‘ ‘ 137,143 ‘ 28,571 ‘ ‘ ‘ 137,143 ‘ 28,571 |1LIIEA 201 x5 X1 H 2==(1/8)x(16/12)x(25/20)
* NSSH : SIS A-'AIRN'Y
SIS X2 A ‘ ‘ 0.208 ‘ el ‘ ‘ ‘ 178,501 ‘ 37,188 ‘ ‘ ‘ 178,501 ‘ 37,188 |12IIEAI2bx4 01 H 4=x 5 KI H %=(1/8)x(16/12)x(25/20)
* L IEHt
Sgog 2021.9.171& 1 < - 181,293 181,293 181,293 181,293
2308 2021.9.171& 1 - 144,481 144,481 144,481 144,481
2=3 2021.9.171& 1 < - 207,346 207,346 207,346 207,346
B A2 A AL 2021.9.171& 1 - 137,143 137,143 137,143 137,143
SIS X2 A 2021.9.121& 1 < - 178,501 178,501 178,501 178,501




MEZH =g e 2 H 1

0.0635x3.14x0.3X1900x27H 2 14.44 kg |[®127mm, 201300mm




£ A X & = 2 g

B
ﬁ
ul
oQ
0z
=
baa

|
=

X

& Al M

NEAHAEZ2H2-XF22ld, 2+E 4! (H1200xW3000)

2 A 2021 &
& HME: A
TEL: 1577-8549
FAX (02)3436-6450




o
40
2
_\'J_
kel

NEAHzZH2-XI==2lE, 28 A(H1200xW3000)

T2 bl = 2l 2 g A
= 7 > | o9 HE 2
e O 2 o e O 2 o e O 2 o & O 2 o
1 REHERU2-NF SIS, BEA (H1200xW3000) £ XI B A "F2H'e
NESVES ®101.62X2tX200 2| = 20,000 40,000 20,000 40,000 |AEIZI2
BENF ®101.6X2t 2| = 178,400 356,800 178,400 356,800 |AHiolel~
INIE S ®101.68 20 M 9,600 19,200 9,600 19,200 |SSOIAES+EMEE
REEES ©76.3x3050x2t 1| = 186,000 186,000 186,000 186,000 | A9z~
g5 ©50.8x2850x2t 2| oM 114,000 228,000 114,000 228,000 |ABioi|A
R M8x110(£ &) 2| 1,500 3,000 1,500 3,000
YEoAB/YLE M8x110( 1) 4 oH 1,200 4,800 1,200 4,800
BEALKI 50X320 2| = 3,300 6,600 3,300 6.600
AM(HZHI) 844,400 - - 844,400
ZRL szow 0.075| 2 181,293 13,596 181,293 13,506 |22 5 BEHESB(HAmTA) P43
sz 0.15| ¢ 144,481 21,672 144,481 21,672 |(\0 BERERBASETA) P46
SENS FeFNEE 14.44| kg 600 8,664 600 8,664 | TAZAT, 2021.01 HaHIHA P.227
20ce 06 inch 0.16] hr 409 65 409 65 | vs 25 el Spist A8, Jimton
se30bE 5 inch 0.08| i 148,000 11,840 148,000 11,840 20215 28 BEBBSATA) P.436
EEp] 25kw 0.24| hr 8,360 2,006 28,571 6.857 3,045 730 39,976 9,503 |22t e e
gmee 2.5ton 0.24| hr 6.274 1,505 37,187 8.924 5.887 1,412 49,348 11,841 |22 B R e s
BWEY ol2tE ol 3% 1A 1,058 1,058 1,088 1,058 |20211 A& EEBM (2807 A) P.436
(&) 25,073 51,049 2,207 78,329
b/ 869,473 51,049 2,207 922,729
*'m"& SOt 822,729 |/ 3m = 307,577




pl = CH t q
) L 24l 4 dl =
23 A *g | 29 HI 22
& o o e o} 3 o e o} 3 o & o} 3 o

*J1SE : BOSL-'AI2VE
20=E 6 1| hr 409 409 409 400 | s & o 877000500 0000001

Al 409 409
* H2SHE - 2&I|(25kw)-"'Al2HE
2l 25kw 1) hr 3,045 3.045 3,045 3.045 %?szuwai%l?:e:gi?iﬁ%i%&iﬁﬁxﬁ),oooooo1
a2 0.001W% S 4.3 | 1,568 6,742 1,568 6,742 |2021.09 JH2HIt2 P.1435
PN =S FAHZO| 24% 0.24] 4 6,742 1,618 6,742 1,618
LEDHSH A 1 ¢ 28,571 28,571 28,571 28,571 |M45HE

A 8,360 28,571 3,045 39,976
* RIBS H : X E={(2.5ton)-'Al2HE
BZEH 2.5ton 1) hr 5,888 5.887 5,888 5.887 %?)zﬂwaiﬁfgigggﬁﬁjog}x)zgéﬁ%Aoooooo1
B 0.001W% S 2.9 | 1,568 4,547 1,568 4,547 [2021.09 HeHIrA P.1435
PN FHZ2| 38% 0.38| & 4,547 1,727 4,547 1,727
SIEX2 A 11 o 37,188 37,187 37,188 37,187 |M58E

A 6,274 37,187 5,887 49,348
* N4SHE : U H2FA-'AIZH'Y
B H2H A ‘ ‘ 0.208 | ¢l ‘ 137,143 ‘ 28,571 137,143 ‘ 28,571 [1LIIZEAZxA O H 2x 5 X H %==(1/8)x(16/12)x(25/20)
* NISS X : SIS X2FA-'Al2HE
SHS X2 AL ‘ ‘ 0.208 | ¢l ‘ 178,501 ‘ 37,188 178,501 ‘ 37,188 |[1LIIZEAIZxA O H 2=x 5 X H %=(1/8)x(16/12)x(25/20)
* I EHL
Sgog 2021.9.121& 1 - 181,293 181,293 181,293 181,293
238 2021.9.12|= 1 - 144,481 144,481 144,481 144,481
F2=3 2021.9.121& 1 - 207,346 207,346 207,346 207,346
A H2E A 2021.9.12|= 1 & - 137,143 137,143 137,143 137,143
StSXH2 ™ AL 2021.9.121& 1 - 178,501 178,501 178,501 178,501




MEZH =g e 2 H 1

0.0635x3.14x0.3X1900x27H 2 14.44 kg |[®127mm, 201300mm




	10...BI-DA-H1200xW3000,분체-2109
	10S...BI-DA-H1200xW3000,스텐-2109

